(a b)

Complete Pascal's

(a b)Y 1

triangle using the expansion formula of (a + b)™. (a + b)° = 1.

Both edges

Between

a b
a2 ab b2
asd azb ab?2 b3
O
O O

sum

Expand the following expression using Pascal's triangle.

(a b)
la* 4a3b 6 aZzb2 4 ab3 1 b4
a4 4 a3b 6 azb?2 4 abd3 b4
(a b)P
(x 2)
1x3 3x2x2 3xx22 1 x28
x3 6 x2 12 x 8
(x 3)
nCr n r
Calculate the following combinations.
5Co 1 6Co
5
5C1 ) 5 6C1
5x4
5Co ox1 10 6C2
5x4x3
5C3 3x2x1 10 6Cs

2
Expand the following expression using the binomial theorem.
( ab ) nCo a'+ nC1 a" 1b+ +nCr a' o'+ +nCnbn

(x y)f

4Co x* 4Cix3y 4Cox?y? 4Cyxy® 4C4 y*

x4 4 x3y 6 x2y2 4 xy3 y4
(x 2)*
(x y)

3Cox® 3C1x3( y) Cox( y)* 3Cs ( y)?

x4 3 x2y 3 xyz ys3
(x 2

Find the coefficients of the terms in the following expansion.
( X y )5 X3 y2
x3 y2 2 5C2 x3 y2
5x4
5Cs ™ 10
( X y )6 X5 y
( X 2 )4 X
X 2 4C3 x x 23
4C3 x 28 4 x8 32

( X 2 )6 X




Find the coefficients of the terms in the following expansion.

(a )

(a b) 1
Complete Pascal's triangle using the expansion formula of (a + b)". (a + b)° = 1.
(a b) =
(a b)) = a b
(a b)P? = a2 ab b2
(a b)) = a3 a2b ab? b3

O
O O

O O O O O O
Both edges
Between ) ( ) sum
nCr n r
Calculate the following combinations.

4Co 1 5Co

4Cy + 4 5C1

4C2 g:i 6 5C2

4C3 g: g:i 5Cs3

4Cs 4G 1 5C4

2

Expand the following expression using the binomial theorem.

n
( ab ) nCo a'+ nC1 a" 1b+ +nCr a" "'+ +nCnbn

(x y)*

4Cox* 4C1 Py 4Cox?y? 4Caxy? 4Cs y*
x4 4 x3y 6 x2y2 4 xy3 y4

(x 2)

(x y )6 A y2
X4 y2 2 6C2 X4 y2
6x5
6Ca T 15
(x y )5 x4y
(x 2 )5 x?
X 2 5C3 x2 x 23
5C3 x 2% 10 x8 80
(x 2 )5 x*
( X 'y 2z )5 x%y?z

{x (v 22)p x*
5Cs x2 (y 22z)3
(y 22z) y*z
3C1y2 (2 z)t
x%y?z
5C3 x3Cy x2 10 x3 x2 60
(x y 22)6 xzyzz2




(a b)
(a b) 1
(a b)° =
(a b))t = a b
(a b)) = a2 ab b2
(a b)® = a3 azb ab? b3
O
O O

O O O O O O
nCr n r
3Co 4Co
3Cy % 3 4C1
3x2
3Co ox1 3 4C
3x2x1
3Cs axoxl 1 4C3
2

n
( a b ) nCO an+ nC]_ an 1b+ +nCr an rbr+ +nCnbn

(x y)°
3Cox® 3C1 x?y 3Caxy? 3Cszy®

x3  3x2y 2xyZ2 8

(x 2)

(x y) xy®
xy® 2 4Cs xy?
4x3x%x2
4Cs I3x2x1
(x y)P Xy
(x 2)4 x?
X 2 4Ca x? x 22
4Cox22 6x4 24
(x 2)4 X3
(x y 22)4 X%y z
{x (v 22)¥ x*
Cox2(y 2z)2
(y 22) yz
2Ciy(22)
X2y z
4Cax2C1x2 6x2%x2 24
(x y 2z)* Xy z2




